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3agaua C. D2

Heka ¢ f{w) 03HauaBaMe Cymara OT LETHTE MOJOKUTEIHH UHCTA X, 38 KOUTO X° JCITH W.
Hanpuwmep f(36) =1 + 2 + 3 + 6 = 12. Hanmumere nporpama, KOsITO 1a MOXe J1a H34uCIsBa f{w).

Bxon

Ha mepBust pen e 3ananeH Opost tectoBe g. Cnensar g pena, Ha BCEKH OT KOUTO CTOH IO
€/IHO YHUCIIO W; .

H3xon
Jla ce u3Benar g pena, KaTo Ha i-s OT TsIX Aa ce usBene f (w;).

Orpannyenns
1<w<10"®
1<¢<300

IIpumep
Bxoa

N3xon

2 12

36 124
4608
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Problem C. D2

Let us denote with f(w) the sum of the positive integers x, for which x* divides w. For
example f(36) =1 + 2 + 3+ 6 = 12. Write a program which calculates f(w).

Input

On the first line a single integer q is given — the number of tests. g lines follow each
specifying a single number w; .

Output

Output g lines, where the i-th of those lines contains f (w;).

Constraints
1<w<10*®
1<q<300

Example
Input Output

2 12
36 124
4608






